Maths English Spelling: Topic

Word Problems Answer the following questions in your book. PracI:I::e thLesek PSHE:
Solve the word problems and ”‘ef‘ write 1. What does the word ‘persuade’ meane 223, Cg\s/'er?o , Watch this vid bout
lgrl\?:.véoerr?wgrrr?sger?’s ;Zrn?/;ﬁ:;g?!y}??od 2. Why might you need"ro persuade Write, Check: are 5 VIAeo about anger.
the word problem and think about which :sgorlj'qeone fo do something? . hitps://www.bbc.co.uk/bitesize/clips/z87d7ty
operation you need to usel . How can you persuade someone to do ophClqn

what you want them to do? pyramid How do you feel when you get angry?

Monday Six pencils cost £1.92. Three pencils and . . . frouble .
one rubber cost £.1 .2‘1 . What is the cost of Click on the link to read the persuasive F:oun’rry What do you do when you get angry?
one rubber2 letter. (WAGOLL) incomplete )
. . . peace How do you feel after you've been angry?
A stack of 40 identical toy boxes is 1000cm How is the Wf”er pgrsuodlng ’rhg Head plece
tall. Hassan takes three boxes off the top Teocher? Write a list of persuasive ven Make a poster for a Year 1 child explaining
of the pile. How tallis the stack now? techniques that are being used. weigh the best ways fo cope with angry feelings
) ) Eg. Addressing the recipient directly. parachute ’
Word Problems Click on the link from Using your spellings Science:
Solve the word problem and then write three- yesterday and use this link to | from yesterday, use
word problems for your family to solve. identify the key features of a your word meaning https://www.bbc.co.uk/bitesize/articles/zdcgp4
Remember to Performance Read the word persuasive letter. seeking strategies
problem and think about which operation you (red card, e.g.read | Click on the above link to learn about the
need to use! Link doc 2 around the word) circulatory system.
Tuesday You can colour code or write | can you come up

Mrs Chen is making jam to sell at the county fair.
Blackberries cost £5.50 per kg. Sugar costs 65p
per kg. 15 glass jars cost £5.85. She uses 16kg of
blackberries and 10kg of sugar to make 15 jars of
jam. Calculate the total cost fo make 15 jars of
blackberry jom.

out the evidence of the key
feature in your book.

Eg. There is a greeting to the
recipient. Dear Mrs Hassan.

with definitions for

each of these words.

Use a dictionary to
check your
meanings.

Complete the quizzes and the activity fo design
a poster explain the circulatory system.



https://www.bbc.co.uk/bitesize/clips/z87d7ty
https://www.bbc.co.uk/bitesize/articles/zdcgp4j

Word Problems

Solve the word problem and
then write three-word problems
for your family to solve.
Remember to Performance
Read the word problem and
think about which operation you

Use the link for the persuasive letter below to underline
the meaning of any unfamiliar words.

Link doc 1

Using your meaning seeking strategies find the definitions
for the words you have underline. Remember to read

Fill in the blanks with your
spellings from this week.

The had
no finding the problem.
A of the Wwas

Computing:

Click on the link to learn
about what makes a
good computer game.

Wednesday need to usel around the word. found in the sand. Switzerland
: is a landlocked . hitps://www.bbc.co.uk/
A school orcers 12 bones o . | C125K 0 SeTenay [orgoodeseoreh) o creec your | e dant_C_very
Fach box contains six bags of ? o Y Y e the szzIe was i SIgn Complete either
g;gg' Eﬁg\z ra%gncg?gg'gzzss the Use the table below to help. the future, there is hope for Activity 1 or Activity 2.
scho'ol order in ‘rétole world A caries
) Link doc 3 deoxygenated blood.
. .| DT:
Use the WoW below to Usmg’ihls
) week’s
Word Problems write new sentences for spellings How to make structures stronger.
Solve the word problems and then write three word problems for each word. can you !
your family to solve. Remember to Performance Read the word create a Watch this video about how we can build
Thursday problem and think about which operation you need to use! Indisputable, Briliance stor strong structures.

Humour, Superior, Exceed abo):n a
A bag of five bananas costs £1. A bag of grapefruits costs £2.40. Furthermore, Logical dav in https://www.bbc.co.uk/bitesize/articles/zrn
How much more does one grapefruit cost than one banana? Unwavering, Justly E Y t? 6pg8

Ultimately, Deny, Crucial gypt:

Complete EITHER Activity 1 or Activity 2.
Word Problems . .
. . o Get someone in your | Love for Reading:
i ?
Solve the word problem onql fhen write three Whatlis a preposﬂwn * | family to test you on | Listen to Weslandia by Paul Fleischman.
word problems for your family to solve. Follow this link to thi . X
. is week’s spellings
Remember to Performance Read the word watch a video and (just the words from oy
Friday problem and think about which operation you

need to use! Eight small bricks have the same
mass as three large bricks. The mass of one
small brick is 1.5kg. What is the mass of one

large brick?

comple’re the activity. Monday); you may

https://www.bbc.co.u
o - want to spend 10
MZQME arti X 38 minutes practising

them first!

Write a summary of the story. Did you enjoy the book?
Would you recommend it fo a friend2 Why/Why not?2
What did you learn from the story?



https://www.bbc.co.uk/bitesize/articles/zk7f382
https://www.bbc.co.uk/bitesize/articles/zk7f382
https://www.bbc.co.uk/bitesize/articles/zrn6pg8
https://www.bbc.co.uk/bitesize/articles/zrn6pg8
https://www.bbc.co.uk/bitesize/topics/zwwp8mn/articles/zw38srd
https://www.bbc.co.uk/bitesize/topics/zwwp8mn/articles/zw38srd
https://www.bbc.co.uk/bitesize/topics/zwwp8mn/articles/zw38srd
https://www.youtube.com/watch?v=RetwwWOpt84



